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QUESTION 1

Your customer wants to Putaway LPN to Location by using the Putaway Rules and link the location with
the Replenishment Zone.

Which four configurations are required? (Choose four.)

A. Putaway Priority and Rules are set at Facility Level.

B. Set Replenishment Zone for Active Location.

C. Set the Location Size Type at Facility Level.

D. Putaway Type is set at Facility Level.

E. Set Replenishment Zone for Reserve Location.

F. Set Criteria for Putaway Rules.

Correct Answer: ABCD

QUESTION 2

What is true about emailing a scheduled report?

A. You cannot customize the subject of the email

B. You can email reports in HTML format

C. The person receiving the email must have an email registered with a username in the system
D. You can add an additional filter for a specific scheduled report

Correct Answer: D

QUESTION 3

As an Inventory Super User, you are configuring LPNs per tier and Tiers per Pallet fields at Iltem Details
screen.

Which statement is true about LPNs per tier and Tiers per Pallet?

A. LPNs per tier and Tiers per Pallet are used to define number of Ob LPN per tier during shipping.

B. LPNs per tier and Tiers per Pallet are used to define number of IB LPN per tier during receiving.

C. LPNs per tier and Tier per Pallet are used to define the standard number of LPNs acceptable per pallet during
receiving.
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D. LPNs per tier and Tiers per pallet are used to define the standard number of case and pack for an Item during
receiving.

Correct Answer: D

Reference: https://learn.oracle.com/ords/launchpad/learn?page=item-masterandcontext=0:44189:44200

QUESTION 4

Which Inventory screen should you use to configure the Inventory Adjustment Code in Oracle WMS Cloud?
A. IB LPNs

B. Reason Codes

C. ltems

D. Inventory Lock Codes

Correct Answer: B

Reference:

https://docs.oracle.com/cd/E12448 _01/rms/pdf/rms_rfm_br/1413/html/ug/ chapter5.htm#CHDBFGEA

QUESTION 5

When the Ship Load interface is generated, which statement is false?

A. The Load is updated to "Shipped" status

B. The Wave is set to "Completed" status

C. The Orders on the load are updated to "Shipped" status

D. The shipping cartons (OBLPNSs) assigned to the load are updated to "Shipped" status

Correct Answer: C
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